
 TITLE

 DWG NO SIZE  REV

 SHEET SCALE

 CAGE CODE

Installation Diagram

180 Inch I-TV

A3 16082023ML 1
1

R

L

3996

L

R

L

R

L

R

L

R

L

R

L

R

22
48

31
53

35
10

90
11

053
9

35

23
65

4010

666
37

5

55
0

35

11
24

35

54
0

11
0

22
49

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
Left frame

AutoCAD SHX Text
Clip fixing 

AutoCAD SHX Text
Top frame 

AutoCAD SHX Text
Right frame

AutoCAD SHX Text
M8*16 screw

AutoCAD SHX Text
Clip fixing 

AutoCAD SHX Text
Top frame

AutoCAD SHX Text
Right frame

AutoCAD SHX Text
Left frame

AutoCAD SHX Text
M6*14 screw

AutoCAD SHX Text
Holes for connecting bracket

AutoCAD SHX Text
Connection plate

AutoCAD SHX Text
Wall-mounting bar

AutoCAD SHX Text
Bottom bar control box

AutoCAD SHX Text
Hanger

AutoCAD SHX Text
M8*25 screw spring washer

AutoCAD SHX Text
A Enlargement

AutoCAD SHX Text
Wall-mounting bar

AutoCAD SHX Text
M8*80 expansion screw sleeve (fix the sleeve into the holes drilled on wall)

AutoCAD SHX Text
Installation Illustration

AutoCAD SHX Text
1.Connect the wall-mounting bar according to "Wall-mounting Bar Connection Drawing"

AutoCAD SHX Text
2.Confirm the hanging bar height based on side-view drawing and on-site situation, drill holes

AutoCAD SHX Text
into the wall for M8*80 expansion screw sleeve

AutoCAD SHX Text
  (hole position must be accurate, use level meter if necessary)

AutoCAD SHX Text
3.Install the hanging bar with M8*80 expansion screw sleeve

AutoCAD SHX Text
4.Every 6 cabinets in one row connected together with top and bottom lock, fix them to

AutoCAD SHX Text
hanger with screws shown in the drawing

AutoCAD SHX Text
5.Hang the panel one column by one column, insert the position pin between columns and fix

AutoCAD SHX Text
the side lock

AutoCAD SHX Text
6.Connect the bottom frame according to botttom bar control box structure, and fix it with

AutoCAD SHX Text
side lock on the bottom row

AutoCAD SHX Text
7.Mount the module in sequence, fix left right and top frame ( fix the top frame by screws),

AutoCAD SHX Text
light the screen and debug.


	Sheets and Views
	Layout1


